Task 1 (8 marks)
Listen carefully.

Underline the correct word or phrase in each bracket.

Using a Toaster

1. You have just listened to (instructions, questions, orders) about how

to use a toaster.
2. A toaster usually has (one, two, three) slots at the top.

3. The toasted bread is ready after (two, three, four) minutes.

Playing a DVD
4.  The optical drive is on the (keyboard, screen, side) of your laptop.
5.  The optical drive tray opens (automatically, manually, remotely).

6. You (always, sometimes, never) need to choose “Computer” from the
“Start” menu to play the DVD.

7. You should select “Open” (after, at the same time as, before) you
right-click the DVD drive icon.

8. The “Pause” and “Stop” buttons can be found on (Media Player,
the optical drive, the “Start” menu).
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Task 2 (12 marks)

Listen carefully.

1. Underline the correct word or phrase in each bracket. 2 marks

(a) Elizabeth Smith went to (a library, a museum, an airport).
(b) Orville and Wilbur were (colleagues, friends, relatives).
(c) The model was first tested in (Ohio, North Carolina, Washington).

(d) The glider was tested (many years ago, recently, three years ago).

2. True (T), False (F) or No Information Given (NIG) 5 marks
Tick (v') the correct box in the table below.

T F | NIG

(a) Wilbur’s father was a businessman.

(b) The boys were amazed by how the helicopter could
glide.

(c) It was Orville who was interested first in flying.

(d) The model created by Orville and Wilbur was made
of plastic.

(e) The invention took two years to finalise.
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3. Fill in each blank with ONE word. 5 marks

(a) Itwas atoy that first attracted the boys to flying.
(b) Wilbur asked for information about flying from a in
Washington.

(c) Wilbur and Orville felt that for the success of a flight,

control was more important than the engines.

(d) The site for the experiments was chosen because the space was

(e) They tested the model times before it was finalised.
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